[ A= fL.a

S el il s e

PSO Z}g.jbﬁjts‘gb

S S il




Shudd 5> 2y 20 ®
Shaadi gt ao by nylge 59,00

KmeanS u:‘j)ﬂé)jj‘.

Shodd 95 53 ;)T;J.ULSJ PSO -

Shuad = g PSO s Kmeans s 5 e

GA ,PSO s »




(Ghodd &

Clododd o Ko
. ))\Su_.bjz.?







Ghoad o= glas s

o3l u.':..alS -

s S bl o s e Y

o3l Lg.Luc\.:}-L 9 jij\ O.WL.&)L, -Y




&,w )L:x.o o‘.f.).ib 3l S &iuuy 9 (.?5& CJJ..JJ A 9> LS':L.’.) sl das b—\
(Cluster Merging)

et 3 pep3n ol |y suad a5 iyt slise slia gl 4 =
=S 2SS e Dol




el S5 a3 S laalin e g3 el




finite sample

\\ infinite sample

_---'--_

lowest
achievahle
=

number of
features

best number of features







1. Eandomly mtialize the [V, cluster centroid vectors

2. Repeat

(a) For each data vector, assign the vector to the
class with the closest centroid vector, where the
distance to the centroid 15 determined nsing

d(Zg, my;) =, )
E=1

where k subscripts the dimension

Fecalcolate the cluster centroid vectors, using

1 .
m, = b Zp

until a stopping criterion 15 satsfied.
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1. Imitialize each particle to contamn K randomly selected cluster centroids
2. Fort=110 tum
(a) For each particle i

1. For each pattern z,

e calculate @(z,,m,;) for all clusters C,, using equation

(3.1)
e assign Zpto C;; where

dlz,,m )= min 1@z, m;:)}
T - I :

i1. Calculate the fitness, f(x;, Z;)
(b) Find the personal best position for each particle and the global best
solution, ¥(f)

(c) Update the cluster centroids using equations (2.8) and (2.10)
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1. Initralize each particle to contam K randomly selected cluster centroids
2.Fort=1 10 fum
(a) For each particle 7

1. For each pattern z,

» calculate d(z,,m,,) for all clusters C;, using equation

(3.1)
e assign jpto C;; where

Té - _ . T 1
df uﬁ,mi}j = min {d(z,.m;)}
ol B 4 i

i1. Calculate the fitness. f(x;, Z,)
(b) Find the personal best position for each particle and the global best
solution, y(f)

(c) Update the cluster centroids using equations (2.8) and (2.10)
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